
1 2 3 4 5 6 7 8 9 10 11 12

1 nw/k esa xk; 31 0 1 32 1 0 1 0 0 30
2  'kq"d xk; 24 0 1 25 0 0 1 0 0 24
3 vkSlj 69 0 2 71 1 0 0 0 0 70
4 eknk cPps 15 1 0 16 1 0 2 0 0 13
5 uj cPps 3 0 0 3 1 0 0 0 0 2
6 lkaM+ cNM+s 0 0 0 0 0 0 0 0 0 0

142 1 4 147 4 0 4 0 0 139

1 nw/k esa xk; 4 0 2 6 0 0 0 0 0 6
2  'kq"d xk; 3 0 0 3 0 0 1 0 0 2
3 vkSlj 6 0 0 6 0 0 1 0 0 5
4 eknk cPps 4 0 0 4 0 0 0 0 0 4
5 uj cPps 0 2 0 2 0 0 0 0 0 2
6 lkaM+ cNM+s 0 0 0 0 0 0 0 0 0 0

17 2 2 21 0 0 2 0 0 19

159 3 6 168 4 0 6 0 0 158
* TWH - TRANSFER WITHIN THE HERD.
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